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1. A shopkeeper bought a cycle for ¥ 1200 and
solid it for ¥ 1500. Find his profit (or) loss

percentage.

o Watch Video Solution

2. Rakesh purchased a T.V for ¥ 5000 and paid
¥ 250 for its transportation. If he sold the T.V.

for ¥ 5075, find his profit or loss percentage.

o Watch Video Solution



https://dl.doubtnut.com/l/_q7RVJbct22lB
https://dl.doubtnut.com/l/_5W8GMlewlnQn
https://dl.doubtnut.com/l/_aSRsK4FORXc5

3. By selling 24 pens Kranthi lost an amount
equal to the CP. of 3 pens. Find his loss

percentage.

o Watch Video Solution

4. Naresh sold two books for ¥ 600 each
thereby gaining 20% on one book and losing
20% on the other bokk.Find his overall loss or

gain per cent.

° Watch Video Solution



https://dl.doubtnut.com/l/_aSRsK4FORXc5
https://dl.doubtnut.com/l/_jvMZR0L5jeE7

5. By selling a ball for ¥ 39, a shopkeeper gains
30%. At what price should he sell it to gain

40% ?

o Watch Video Solution

6. Abought a book for ¥ 500 and sold it to B at
profit of 10%. B in turn sold the book to C for a
profit of ¥ 44. Then the price at which C

bought the book was

° Watch Video Solution



https://dl.doubtnut.com/l/_PiTkuxKBlodj
https://dl.doubtnut.com/l/_kSVOH5WiFfMi

7. Answer sold two articles. He sold one of
them at 20% profit for ¥ 150 and the other at
25% loss for ¥ 120. Find his overall profit/loss

percentage approximatelt.

o Watch Video Solution

8. A book with a marked price of ¥ 600 is
available at a discount of 18%.Find the
discount given and also the price at which the

book is available for sale.


https://dl.doubtnut.com/l/_kSVOH5WiFfMi
https://dl.doubtnut.com/l/_cx8HwmL9z0J8
https://dl.doubtnut.com/l/_fqyULH1gVYqY

° Watch Video Solution

9. The marked price of a radio is ¥ 1200. Find
the discount percentage allowed on the radio

if it is sold for ¥ 1050.

° Watch Video Solution

10. A shopkeeper sold an article for ¥ 1326
after allowing a discount of 15% on its marked

price.Find the marked price of the article.


https://dl.doubtnut.com/l/_fqyULH1gVYqY
https://dl.doubtnut.com/l/_R5vOhVjNlDX7
https://dl.doubtnut.com/l/_cQxYnNwzdQBZ

A. 1560

B. 1440

C. 1250

D. 2460

Answer: A

o Watch Video Solution

11. As part of Diwali dhamaka offer,a jeweller
allows a discount of 15%. Even after giving the

discount, he makes a profit of 6.25%. Anil


https://dl.doubtnut.com/l/_cQxYnNwzdQBZ
https://dl.doubtnut.com/l/_KyfyCaAq1tQI

bought a gold chain which was marked at *
5000. Find the cost price of this chain for the

jeweller.

° Watch Video Solution

12. The marked price of an article is ¥ 50. If the
percentage of discount given on the article is
numerically equal to half the selling price of

the article, then find the selling price.

° Watch Video Solution



https://dl.doubtnut.com/l/_KyfyCaAq1tQI
https://dl.doubtnut.com/l/_FHMCNcKnKx4E
https://dl.doubtnut.com/l/_jBIsCI6hPkgI

13. Satish and Kranthi started a business with
capitals of ¥ 12000 and ¥ 18000 respectively
and made a profit of ¥ 3500. Find the share of
Kranthi and Satish in the profit at the end of

the year.

o Watch Video Solution

14. Rakesh set up a factory with a capital of ¥
90000 and Ramesh joined him later with an
investment of ¥ 50000. The total profit earned

at the end of the year was ¥ 68000. Find when


https://dl.doubtnut.com/l/_jBIsCI6hPkgI
https://dl.doubtnut.com/l/_y58v92BM6r0N

Ramesh joined Rakesh as the partner, if

Rakesh's share in the profit is ¥ 48000.

o Watch Video Solution

15. Naresh, Gopi and Sarath started a business
with investments of ¥ 10000, ¥ 20000 and ¥
20000 respectively. After 6 months Gopi
withdrew an amount of ¥ 5000 from his
investment. After 3 more months, Sarath

added ¥ 10000 to his investment. If at the end


https://dl.doubtnut.com/l/_y58v92BM6r0N
https://dl.doubtnut.com/l/_wRVknjgxFEXX

of the year, the total profit earned is ¥ 36000,

then find the share of each.

° Watch Video Solution

16. In a business,Rahul earned a profit of ¥
1500 by inversting ¥ 2000 for a period of 8
months what is the profit earned by Kranthi if
he invests ¥ 800 over a period of 12 months

(under the same conditions) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wRVknjgxFEXX
https://dl.doubtnut.com/l/_u3yMqgmNRJAV
https://dl.doubtnut.com/l/_sV0lpNDOUruL

17. Rakesh started a book stall with an
investment of ¥ 18000 and Rohan joined him
later with an investment of ¥ 15000.If the ratio
of their profits at the end of the year is 12:5,
then after how many months later did Rohan

join Rakesh ?

o Watch Video Solution

Test Your Concepts Very Short Answer Type

Questions



https://dl.doubtnut.com/l/_sV0lpNDOUruL

1. What is the ratio by which the C. P. has to
be multiplied to get the S. P., if the profit is

10 %

10
11

10

11
10

10
12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mQYRgQykyPqy

2. If 10% profit is achieved by selling an article

at ¥ 1001, then find its cost price.

o Watch Video Solution

3. If S.P. * 25 and C.P. =* 30, then loss percent

o Watch Video Solution



https://dl.doubtnut.com/l/_V2uajaVfhJbb
https://dl.doubtnut.com/l/_Q2Gag8zJUUwQ

4. What is the loss percent if a man loses ¥ 120

on selling an article for ¥1380 ?

° Watch Video Solution

5. A cloth merchant sold his stock for a profit
of 5%.If the cost price of the cloth is ¥50 per
metre then find the selling price of the cloth

per metre.

o Watch Video Solution



https://dl.doubtnut.com/l/_8YcFrLfLxrlz
https://dl.doubtnut.com/l/_bGN034P0N9Cl
https://dl.doubtnut.com/l/_SUGJ028J53zu

6. The cost price of two articles is the same.
One is sold at 10% profit and the other is sold
at 10% loss. What is the effective profit/loss

percentage ?

° Watch Video Solution

7.1f S.P. is ¥x, C.P. is ¥y and profit is z%. Then z

)

o Watch Video Solution



https://dl.doubtnut.com/l/_SUGJ028J53zu
https://dl.doubtnut.com/l/_5GjvR23v5YVv
https://dl.doubtnut.com/l/_mNptlRKVgXwt

8. If an article costs 25% less, a profit of ¥100
more can be made by selling the article at the
usual price. What is the cost price of the

article ?

o Watch Video Solution

9.The selling price of two articles is the same.
One is sold at 25% profit and the other is sold
at 25% loss. What is the effective profit/loss

percentage?

o Watch Video Solution



https://dl.doubtnut.com/l/_mNptlRKVgXwt
https://dl.doubtnut.com/l/_T7ZkdanLTsJG

10. The old stock in a shop was cleared by
selling it for ¥8500 at a loss of 50%. Find the

actual cost price of the stock.

o Watch Video Solution

11. Ajit sold a watch to Balu at 20% profit.If the
cost price for Balu was ¥15 more than the cost

price for Ajit, find the cost price of Ajit.

o Watch Video Solution



https://dl.doubtnut.com/l/_T7ZkdanLTsJG
https://dl.doubtnut.com/l/_9v5e8JD4Mlmd
https://dl.doubtnut.com/l/_LalBRFuAT7z2

12. By what fraction the S.P. must be multiplied

to get the C.P, if the loss % is 20%.

° Watch Video Solution

13. The marked price of an article is ¥ 1780. The
shopkeeper allows a discount of 25%.What is

the selling price of the article ?

° Watch Video Solution



https://dl.doubtnut.com/l/_1cwgrA3bHVJ7
https://dl.doubtnut.com/l/_27ODnx8Lhcaq

14. If F175 is the discount offered on an article
whose marked price is ¥900, find its selling

price.

o Watch Video Solution

15. A trouser was sold for 750 after a discount
of ¥50 was offered on it. What was the

discount percentage ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uY77dyW0SwIH
https://dl.doubtnut.com/l/_EAXmS5BkQlX5
https://dl.doubtnut.com/l/_ROPts980lXL5

16. An article was sold after offering successive
discounts of ¥78 and ¥24. If its marked price is

¥702,then find the selling price of the article.

o Watch Video Solution

17. Two successive discounts of 10% and 20%
on an article are equivalent to a single

discount of x%.What is X?

o Watch Video Solution



https://dl.doubtnut.com/l/_ROPts980lXL5
https://dl.doubtnut.com/l/_hu877woaror2
https://dl.doubtnut.com/l/_D4GnIQGapoYF

18. An article is sold for ¥5100 after a discount
of 15% was offered on it.Find the marked price

of the marked price of the article.

o Watch Video Solution

19. A shirt sold for %7920 after offering
successive discounts of 12% and 10% .What is

the marked price of the shirt ?

o Watch Video Solution



https://dl.doubtnut.com/l/_D4GnIQGapoYF
https://dl.doubtnut.com/l/_JhYDk6DtLpZm

20. The cost price of a dining table si ¥1500
and its marked price is ¥1800. If a shopkeeper
sells it at a loss of 8% , then what is the rate of

discount offered by him ?

o Watch Video Solution

21. The marked price of an article is 32% above
its cost price. What is the rate of discount he

can offer so that he gains 10%

o Watch Video Solution



https://dl.doubtnut.com/l/_5sWnZVcKSnFD
https://dl.doubtnut.com/l/_kl3t5F18AjNp

22. A profit of 12% can be earned by selling an
article after offering a discount of ¥ 200.If the
cost proce of the article is ¥ 850, then find its

marked price.

o Watch Video Solution

23. A person who runs a business iointly with

others is called .........

° Watch Video Solution



https://dl.doubtnut.com/l/_kl3t5F18AjNp
https://dl.doubtnut.com/l/_99CKTFuSeT4C
https://dl.doubtnut.com/l/_z8vz6g39HLDA

24. In general partnership, period of

investment differs. True or false?

° Watch Video Solution

25. Three partners invested capitals in the
ratio of 1:2:3 and made a profit of ¥ 2400.
Then, what is the highest share among the

three ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Hnjc3fXbM5sm
https://dl.doubtnut.com/l/_QJ09v9oXlgNO
https://dl.doubtnut.com/l/_mwEiduh6Ibvq

26. Two partners A and B invested mony in the
ratio 3: 5 to start a business and made a profit

of ¥ 1600 at the end of a year. Find A's share.

o Watch Video Solution

27. Ravi started a business and Raj joined him
after a few months. The rartio of their
investments is 3:4. If their profits at the end
of the year are equal, then find when Rgj

joined the business ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mwEiduh6Ibvq
https://dl.doubtnut.com/l/_Dvx4786cCK8X

28. An article is marked at ¥ 900.After giving a
discount of 20% .,it is sold at a profit of

20%.Find the cost price of the article.

o Watch Video Solution

29. A shopkeeper allows a discount of 15% on
all the goods purchased from his shop. On
request, he further allows a discount of 10%

on the new price of the goods. What is the


https://dl.doubtnut.com/l/_Dvx4786cCK8X
https://dl.doubtnut.com/l/_gTdvbqgQs3Cj
https://dl.doubtnut.com/l/_mm8W7VKGTjeH

overall rate of discount given to the customer

?

° Watch Video Solution

30. The ratio of inverstments of four

businessmen is as follows:

XY—2'12 Y'Z—22°4 Z'A—3'53
=2:15,¥:2=25:4,2: A = 3:57

If As inverstment is ¥ 46230, find X's

investment.

° Watch Video Solution



https://dl.doubtnut.com/l/_mm8W7VKGTjeH
https://dl.doubtnut.com/l/_du6OBL9zhGX9

Test Your Concepts Short Answer Type Questions

1. A trader marks his goods at 5% above its
cost price. What is the rate of discount offered

by him if he sells them at a loss of 10%?

° Watch Video Solution

2.By selling an article at ¥ 1296, a man incurs a
loss of 4%. At what price should he sell the

article to gain 5% ?

I ° Watch Video Solution


https://dl.doubtnut.com/l/_GCUSdv7t7P9d
https://dl.doubtnut.com/l/_CqB0AZ6aFAwW

3. Anil bought a cycle for ¥ 1500 and sold it to
Ramesh at a profit of 10%. Satish bought the
cycle from Ramesh for a certain price which
resulted in a loss of ¥ 50 to Ramesh. At what
price. which resulted in a loss of ¥ 50 to
Ramesh.At what price did Satish buy the cycle

from Ramesh ?

o Watch Video Solution



https://dl.doubtnut.com/l/_CqB0AZ6aFAwW
https://dl.doubtnut.com/l/_H7YmHy5SLjUg

4. The marked price of a motor cycle is ¥
12000. By selling it at a discount of 15%, the
loss made is 4%. What is the cost price of the

motor cycle ?

o Watch Video Solution

1
5. A trader buys goods at 75% less than the
list price.He allows a discount of 10% on his

goods. If he wants to get a profit of 20%, at


https://dl.doubtnut.com/l/_hFUKAuARpxsJ
https://dl.doubtnut.com/l/_FjJpMiJ6aSeB

what per cent above the list price should he

mark the goods ?

° Watch Video Solution

6. A grocer sells 5 chocolates for 1¥ at a profit
of 4%. In order to get a profit of 30%, how

many chocolates does he have to sell for¥ 17

° Watch Video Solution



https://dl.doubtnut.com/l/_FjJpMiJ6aSeB
https://dl.doubtnut.com/l/_tkZAw7mLikfZ

7. A person bought an article and sold it at a
loss of 20%. If he had bought it for 10% less
and sold it for 55% more, then he would have

made a profit of 50%. The C.P. of the article is

o Watch Video Solution

8. If books bought at prices ranging from ¥
400 to ¥ 1000 are sold at prices ranging from

T 500 to ¥ 1200, then what is the greatest


https://dl.doubtnut.com/l/_OAAVUhfV2yja
https://dl.doubtnut.com/l/_J2XEo9VaArst

possible profit that could be made while

selling five books?

° Watch Video Solution

9. A merchant gets a profit of 20% by allowing
a discount of 10%.Instead, if he allows a
discount of 15%, then what would be his loss

or profit percentage ?

o Watch Video Solution



https://dl.doubtnut.com/l/_J2XEo9VaArst
https://dl.doubtnut.com/l/_WGSPtcWN4fYK

10. After giving two successive discounts, a
shirt with a marked price of ¥ 200 is available
at ¥ 100. If the second discount is 20%, then

the first discount is

o Watch Video Solution

11. Directions for questions 41 and 42 : A
reduction of 20% in the price of mangoes per

dozen enables a purchaser to bu 5 dozens


https://dl.doubtnut.com/l/_ANoriFM8h3sz
https://dl.doubtnut.com/l/_i1dFfklQOT3s

more for ¥ 1800. Find the following.

Original price per dozen is ?

° Watch Video Solution

12. Directions for questions 41 and 42 : A
reduction of 20% in the price of mangoes per
dozen enables a purchaser to bu 5 dozens
more for ¥ 1800. Find the following.

Original price per dozen is ?

° Watch Video Solution



https://dl.doubtnut.com/l/_i1dFfklQOT3s
https://dl.doubtnut.com/l/_ukF33Ldq2Cf3
https://dl.doubtnut.com/l/_x6ZayvkSITUX

13. A trader purchased 20 articles.He sold
some of them to a customer at a gain of 10%
and the remaining to another customer at a
gain of 20%.If he gains 15% on the whole, then
how many articles did he sell to the first

customer?

o Watch Video Solution

14. A book seller offers a discount of 10% and

gains 5% on a book. If the marked price is ¥ 50


https://dl.doubtnut.com/l/_x6ZayvkSITUX
https://dl.doubtnut.com/l/_EqQO9WFYKZu2

more than the cost price, then find the selling

price.

° Watch Video Solution

15. M.P. of a saree is ¥ 1500. The shop owner
allowed 25% discount, but the customer
bargained for 30%.So, the shop owner allowed
25% and 5% successive discounts.

Find the difference between the discount
expected by the customer and discount given

by the owner.

| e |


https://dl.doubtnut.com/l/_EqQO9WFYKZu2
https://dl.doubtnut.com/l/_rJr5cBir9cXp

& Wwatch Video Solution ]

Test Your Concepts Essay Type Questions

1. In a class, the average marks of boys is 520
and that of the girls is 420. If the average
marks per student is 500, the percentage of

boys in the class is ...

o Watch Video Solution



https://dl.doubtnut.com/l/_rJr5cBir9cXp
https://dl.doubtnut.com/l/_WLyh8Jqx7Q8p

2. The loss made by selling 10 m of a cloth
equals to the cost price of 3 m of the same

cloth. Find the loss percentage.

o Watch Video Solution

3. A man sells two cows for ¥ 4000 each,
neither losing nor gaining in the deal. If he
sells one cow at a gain of 28%, them the other

cow is sold at a loss of ................

° Watch Video Solution



https://dl.doubtnut.com/l/_ZXoniD03JwT5
https://dl.doubtnut.com/l/_f2zNEnrL6Pzc

4. A trader offers a discount of 10% on an
article and sells it for ¥ 990. If he doen't give
discount, he will get a profit of 10% on it. What

Is the cost price of the article ?

o Watch Video Solution

5.X and Y started a business with investments
of ¥ 5000 and ¥ 8000 respectively. After 6
months, Y withdrew an amount of ¥ 2000 from

his investment and Z joined the business with


https://dl.doubtnut.com/l/_f2zNEnrL6Pzc
https://dl.doubtnut.com/l/_ralPNZoQIqu0
https://dl.doubtnut.com/l/_ERWcip3keFDH

an investment of ¥ 6000. If the profit at the
end of the year is ¥ 9615, then what is the

share of Y ?

o Watch Video Solution

Concept Application Level 1

1. If S.P.=¥ 900 and loss=25%, then C.P. is

A.%1200

B.31033


https://dl.doubtnut.com/l/_ERWcip3keFDH
https://dl.doubtnut.com/l/_jnZi5jGsI3qe

C.¥1150

D.%1250

Answer: A

° Watch Video Solution

2. If C.P=X900, profit=k120, and the discount

offered is ¥80, then M.P. is

A.%1020

B.3¥ 980


https://dl.doubtnut.com/l/_jnZi5jGsI3qe
https://dl.doubtnut.com/l/_TUKkt6gnwJQc

C.¥ 940

D.? 1100

Answer: D

O Watch Video Solution

3. A profit of 10% can be made by selling an

article for ¥759. The cost price of the article is

A.%840

B.X770.50


https://dl.doubtnut.com/l/_TUKkt6gnwJQc
https://dl.doubtnut.com/l/_EJgyR4sUX7Ta

C.3690

D.3%675

Answer: C

o Watch Video Solution

4. If a retailer bought some books for ¥7500
and spent ¥500 on transportation charges,

then find the overall loss incurred by him, if he

sold them for ¥ 7950.


https://dl.doubtnut.com/l/_EJgyR4sUX7Ta
https://dl.doubtnut.com/l/_B1UZNxoyZ86Q

A.7 40

B.350

C.No loss

D.3 500

Answer: B

o Watch Video Solution

5. If a book bought for ¥500 is sold to make a

profit of 25% , then the selling price is


https://dl.doubtnut.com/l/_B1UZNxoyZ86Q
https://dl.doubtnut.com/l/_yUqAtTjJqtp4

A.% 600

B.¥ 625

C.¥ 700

D.¥ 650

Answer: B

o Watch Video Solution

6. A shopkeeper bought a book for ¥ 300. Due
to the damage caused during transportation,

he sold it for ¥270. Find the loss percentage.


https://dl.doubtnut.com/l/_yUqAtTjJqtp4
https://dl.doubtnut.com/l/_OSQcVUcoVEJk

A. 01

B.0.15

C.03

D. 0.2

Answer: A

o Watch Video Solution

7. A retailer buys a ratio for ¥425. His overhead
expenses are ¥ 55. If the sells the ratio for ¥

560, then the profit percentage is


https://dl.doubtnut.com/l/_OSQcVUcoVEJk
https://dl.doubtnut.com/l/_gqtSMejokX1a

A 12.5%

B.16.67 %

C.18.5%

D.13.3%

Answer: B

° Watch Video Solution

8. A man sells 200 mangoes at the cost price

of 250 mangoes. His profit percentage is


https://dl.doubtnut.com/l/_gqtSMejokX1a
https://dl.doubtnut.com/l/_veSorbA5iFMG

A 12.5%

B.0.25

C.0.2

D. None of these

Answer: B

o Watch Video Solution

9. A bicycle was sold at a gain of 20%.Had it
been sold for ¥ 89 more, the gain would have

been 25%. Find the cost pirce of the bicycle.


https://dl.doubtnut.com/l/_veSorbA5iFMG
https://dl.doubtnut.com/l/_I7Qee5yPVWlt

A.7 1780

B.3¥ 1800

C.%1750

D.%1775

Answer: A

o Watch Video Solution

10. A mechanic sold a scooter for ¥ 9000 at a
loss of 10%. In order to gain 5% at what price

should he sell it ?


https://dl.doubtnut.com/l/_I7Qee5yPVWlt
https://dl.doubtnut.com/l/_ROkUyUnTHSqf

A.% 9500

B.¥ 10000

C.¥ 10500

D.3%11000

Answer: C

0 Watch Video Solution

1. If S.P=¥750, discount =25%, then M.P. is

A.%800


https://dl.doubtnut.com/l/_ROkUyUnTHSqf
https://dl.doubtnut.com/l/_GcfYBS9haSBi

B.3¥900

C.%1000

D.3%1100

Answer: C

o Watch Video Solution

12. The marked price of a bicycle is ¥1728. By
selling it at a discount of 25%, the loss is 20%.

The cost price of the bicycle is


https://dl.doubtnut.com/l/_GcfYBS9haSBi
https://dl.doubtnut.com/l/_s5Au63kt4Q7E

A.31800

B.31764

C.?1620

D.31656

Answer: C

o Watch Video Solution

13. The cost of an item is 20% less than its
marked price. At what percentage above its

cost price is the item marked?


https://dl.doubtnut.com/l/_s5Au63kt4Q7E
https://dl.doubtnut.com/l/_T8hg8g0DGzYF

A. 0.1

B.0.12

C.0.2

D. 0.25

Answer: D

° Watch Video Solution

14. The cost price of 20 pens is equal to the

selling price of 15 pens. The gain per cent is


https://dl.doubtnut.com/l/_T8hg8g0DGzYF
https://dl.doubtnut.com/l/_eMAEOcwViNN8

A. 0.24

1
B. 33§ %
C.018

2
D. 16§ %

Answer: B

o Watch Video Solution

15. The cost price of a shirt is ¥ 900. When it is
sold at a discount of 10%, a loss of 5% is

incurred. Find the marked price of the shirt.


https://dl.doubtnut.com/l/_eMAEOcwViNN8
https://dl.doubtnut.com/l/_G7PH1dV5aOoc

A.% 950

B.¥ 1050

C.¥930

D.3¥ 1020

Answer: A

o Watch Video Solution

16. The single discount that is equivalent to

two successiv discounts of 12% and 20% is


https://dl.doubtnut.com/l/_G7PH1dV5aOoc
https://dl.doubtnut.com/l/_daFTES1nlaGJ

A. 29— %

B.70— %

C.29— %

D. 70— %

Answer: C

o Watch Video Solution

17. A profit of 8% is made by selling a shirt
after offering a discount of 12%. If the marked

price of the shirt is ¥ 1080, find its cost price.


https://dl.doubtnut.com/l/_daFTES1nlaGJ
https://dl.doubtnut.com/l/_FTaRgwCT1VzN

A.3 800

B.¥ 840

C.¥ 910

D.3 880

Answer: D

o Watch Video Solution

18. The sum of the selling prices of two toys

having the same cost price and sold at profits


https://dl.doubtnut.com/l/_FTaRgwCT1VzN
https://dl.doubtnut.com/l/_hQNMfkOG34Lm

of 5% and 10% is ¥ 1032. Then the cost price of

each toy is .oveervenecenns

A.% 480

B.¥ 520

C.¥ 500

D.3 450

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hQNMfkOG34Lm

19. The selling price of an article is 3 times

that of its cost price. The gain per cent is

A.0.85

B.0.72

C. 831/3%

D. 0.76

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KC0GJUfhcQcN
https://dl.doubtnut.com/l/_puY51LxKV3Vd

20. A trader makes a profit of 10% on an article
by selling it after allowing a discount of 20%. If
he allows a discount of 10% only, find his profit
percentage

A.172/3%

B. 191/2%

C.211/4%

D. 233/4%

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_puY51LxKV3Vd

21. profit shared by two persons A and B at the
end of a year are in the ratio 3:2. If As
investment is twice that of B's, then what is
the ratio of the periods of investments of A
and B?

A2:3

B.3:2

C.3:8

D.8:3


https://dl.doubtnut.com/l/_puY51LxKV3Vd
https://dl.doubtnut.com/l/_VwizYPyx5t1Q

Answer: C

o Watch Video Solution

22. Raju sold his car for Rs. 126000 at a gain of
5%. In order to gain 10%, at what price should

he sell the car?

A.3 130000

B.3¥ 128000

C.¥ 132000

D.% 134000


https://dl.doubtnut.com/l/_VwizYPyx5t1Q
https://dl.doubtnut.com/l/_HuwufqyxMDDY

Answer: C

o Watch Video Solution

23. Himaja sold a bicycle for Rs 1210 to Girija at
a gain of 10% and Vasu sold a scooter for
Rs10200 to Vyas at a gain of 2%. Who got
more profit and how much?

A. Himaja, ¥ 110

B. Vasu, 3T 200

C.Vasu,? 100


https://dl.doubtnut.com/l/_HuwufqyxMDDY
https://dl.doubtnut.com/l/_3sitohHmnjjN

D. Himaja, ¥ 210

Answer: B

° Watch Video Solution

24. A man sold an article for ¥ 88 at a loss. But,
if he sells it for ¥ 112, then he would gain an
amount thrice the loss. Find the C.P. of the

article.

A.794


https://dl.doubtnut.com/l/_3sitohHmnjjN
https://dl.doubtnut.com/l/_GqDnsFI4w5mp

B.¥ 95

C.¥90

D.¥ 84

Answer: A

o Watch Video Solution

25. Find the single discount equivalent to the

successive discounts of 25%, 12% and 5%.

A. 31.4 %


https://dl.doubtnut.com/l/_GqDnsFI4w5mp
https://dl.doubtnut.com/l/_c6bJE4znh7Z5

B.35.1 %

C.37.3%

D.04

Answer: C

o Watch Video Solution

26. A and B started a business with a total
investment of Rs 30600. If the total profit of

Rs. 15000 is divided equally instead of dividing


https://dl.doubtnut.com/l/_c6bJE4znh7Z5
https://dl.doubtnut.com/l/_pOIxlwfb6aYM

it in the ratio of their investments, then A gets

Rs. 200more. What is the investment of A?

A.T 14892

B.¥ 15564

C.3 16286

D.¥ 17148

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pOIxlwfb6aYM

27. A and B started a business with
investments of ¥ 6000 and ¥ 7000 respectively.
After 4 months, B withdrew ¥ 3000. At the end
of the year, profit is ¥ 1320. What is the share
of A?

A.% 760

B.T¥ 740

C.¥ 780

D.X 720

Answer: D


https://dl.doubtnut.com/l/_WuLfkB3dWOUw

° Watch Video Solution

28. A sold an article for ¥ 420 at a gain of 5%

and B sold an article for ¥ 477 at a gain of 6%.

Who got more profit and by how much ?

A AT 10

B.B,3¥ 7

C.AX8

D.BX 10

Answer: B


https://dl.doubtnut.com/l/_WuLfkB3dWOUw
https://dl.doubtnut.com/l/_8FZff1uBP2e6

° Watch Video Solution

29. What is the ratio by which the C.P. has to
be multiplied to get the S.P, if the profit is

10%?
11

10

. 10
11

10
5 11
"\ 10

Answer: A


https://dl.doubtnut.com/l/_8FZff1uBP2e6
https://dl.doubtnut.com/l/_jyKDB6rkCRVJ

° Watch Video Solution

30. A cloth merchant sold his stock for a profit
of 5%. If the cost price of the cloth is ¥ 50 per
metre, then find the selling price of the cloth
per metre (in ).

A.53.5

B. 50

C.55

D. 52.5


https://dl.doubtnut.com/l/_jyKDB6rkCRVJ
https://dl.doubtnut.com/l/_8QLtVHG5HuF3

Answer: D

o Watch Video Solution

31. The marked price of a shirt was ¥ 300 and it

was sold at a discount of 15%. Find the

discount allowed (in ¥ ).

A. 65

B.45

C.60

D.75


https://dl.doubtnut.com/l/_8QLtVHG5HuF3
https://dl.doubtnut.com/l/_YemiQWbxHbnI

Answer: B

o Watch Video Solution

Concept Application Level 2

1. The merchant allows a discount of 10% on

an article before selling it to his customer and
still gains 10%. If the merchant bought the
article for ¥ 1620, then at what price did he

mark the article ?


https://dl.doubtnut.com/l/_YemiQWbxHbnI
https://dl.doubtnut.com/l/_EedSVaxTn0Sg

A.% 1872

B.3¥ 1980

C.%¥ 2080

D.3¥ 2006

Answer: A

o Watch Video Solution

2. A vender bought 5 lemous for a rupee. How

many lemons must be sold for ¥ 7 to gain 16§

?


https://dl.doubtnut.com/l/_EedSVaxTn0Sg
https://dl.doubtnut.com/l/_gXJKMSjhWpfD

A.30

B.35

C.49

D. None of these

Answer: A

o Watch Video Solution

3. A dealer buys goods at 15% off the list price.
He wants to make a profit of 20% after

allowing a discount of 10%. At what per cent


https://dl.doubtnut.com/l/_gXJKMSjhWpfD
https://dl.doubtnut.com/l/_IhWhRCWX9klj

above the list price of the dealer should he

amrk the goods?

1
A. 13§ %

1
B. 125 %
C.015

2
D. 16§ %

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IhWhRCWX9klj

4. A trader marks a television 20% above the
cost price and allows a discount of 10%. If the
profit earned is ¥ 544, then what is the cost
price of the television ?

A.% 45

B.¥ 41.50

C.? 41

D.¥ 42.50

Answer: B

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_LxAGgTCW60Yq
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5. Three hundred oranges were bought at ¥ 40
per dozen and sold at a profit of 25. The

selling price of the oranges per dozen is

A.X 45

B.¥ 41.50

C.% 41

D.¥ 42.50


https://dl.doubtnut.com/l/_LxAGgTCW60Yq
https://dl.doubtnut.com/l/_z2H3UR8ExSfM

Answer: C

o Watch Video Solution

6. A student buys 3 pencils for ¥ 4 and sells all

at 4 for ¥ 5. His gain or loss per cent is

A.5% loss

B.5% loss

C.6.25 % gain

D.6.25 % loss


https://dl.doubtnut.com/l/_z2H3UR8ExSfM
https://dl.doubtnut.com/l/_hMlOI2cxhddk

Answer: D

o Watch Video Solution

7. A shopkeeper offers a discount of 25% on a
T.V. and sells it for ¥ 8400. If he doesn't offer
the discount, he will get a profit of 25%. What

is the cost price of the T.V.?

A.%¥8570

B.¥ 11200

C.¥ 9040


https://dl.doubtnut.com/l/_hMlOI2cxhddk
https://dl.doubtnut.com/l/_W76mQ5WmkFTx

D.3 8960

Answer: D

° Watch Video Solution

8. By selling a calculator at ¥ 510, a man loses

15%. At what price should he sell it to gain 15%

A.% 690

B.¥ 600

C.¥ 720


https://dl.doubtnut.com/l/_W76mQ5WmkFTx
https://dl.doubtnut.com/l/_3Ac9qBqSviSP

D.3 660

Answer: A

° Watch Video Solution

9. How much percentage greater than the cost
price should a shopkeeper mark his goods so
that after allowing a discount of 22% on the

marked price, he gains 17%

A. 60 %


https://dl.doubtnut.com/l/_3Ac9qBqSviSP
https://dl.doubtnut.com/l/_b1WexzBgHdfJ

B. 50 %

C.45 %

D. 40 %

Answer: B

o Watch Video Solution

10. A shopkeeper sold an article at 5% profit. If
1

he had sold it at a profit of 175 % the profit

would have been ¥ 25 more. What is the cost

price of the article ?


https://dl.doubtnut.com/l/_b1WexzBgHdfJ
https://dl.doubtnut.com/l/_H5Ab60LVthiG

A.7 150

B.¥ 300

C.%¥ 200

D. Cannot be determined

Answer: C

o Watch Video Solution

11. Subash and Harsha ¥ x and ¥ y in a business
for a period of 9 months and 12 months

respectively. If the profits earned by Subash


https://dl.doubtnut.com/l/_H5Ab60LVthiG
https://dl.doubtnut.com/l/_r8tDs5bTEC2I

and Harsha at the end of the year are the

same, then z:yis

A3:4

B.2:3

C.4:3

D.11:12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_r8tDs5bTEC2I

12. Harilal invested ¥ x for 4 months and  y for
8 months. Ramlal invested ? y for
7 months and ¥ x for 5 months. If they share
the profit equally at the end of the year, then
which of the following is true ?

A. x=2y

B. y=2x

C. x=y

D. 2x=3y

Answer: C


https://dl.doubtnut.com/l/_BIFXws4Ai20L

° Watch Video Solution

13. Raj sold 160 mangoes at the cost price of

180 mangoes. Find his profit percentage.
A.10 %
B.15 %
1
C.12- %

2

1
D.11§ %

Answer: C

| 8 l


https://dl.doubtnut.com/l/_BIFXws4Ai20L
https://dl.doubtnut.com/l/_b6Qlss3vkUUm

14. The marked price of a radio was ¥ 2400.It

was sold after a discount of 20%. If the

percentage of profit was 20%, then find its

cost price (in ).

A. 1500

B. 1600

C. 1200

D. 1800


https://dl.doubtnut.com/l/_b6Qlss3vkUUm
https://dl.doubtnut.com/l/_ZRgx1AuoVoGS

Answer: B

o Watch Video Solution

15. Bala sells a car at 5% profit for ¥ 210000. If

he sells it at ¥ 218000, then what will be his

profit percentage ?

A 9%

B.12 %

C.6%

D. 18 %


https://dl.doubtnut.com/l/_ZRgx1AuoVoGS
https://dl.doubtnut.com/l/_CtXLcARoqp0R

Answer: A

o Watch Video Solution

16. Two watches were sold at the same price.
One was sold at 10% profit and the other was
sold at 10% loss. Find the overall profit/loss

percentage made in the transaction.

A.1% profit

B.1% loss

C.2% profit


https://dl.doubtnut.com/l/_CtXLcARoqp0R
https://dl.doubtnut.com/l/_WVwRNhrXBhjd

D.2% loss

Answer: B

° Watch Video Solution

17. A retailer bought some tables for ¥ 4000.
He spent ¥ 1000 on transportation charges. He
sold them for ¥ 6000. Find his profit

percentage.

A. 20 %


https://dl.doubtnut.com/l/_WVwRNhrXBhjd
https://dl.doubtnut.com/l/_NHewqxJ13lc8

B.25 %

C.16— %

D.33— %

Answer: A

o Watch Video Solution

18. The profit made by a merchant in selling 5
m of a cloth was equal to the cost price of 2 m

of the cloth. Find this profit percentage.


https://dl.doubtnut.com/l/_NHewqxJ13lc8
https://dl.doubtnut.com/l/_EYkaUuswfky6

A. 60 %

2
B. 66§ %
C.50 %

D. 40 %

Answer: D

° Watch Video Solution

19. Which of the following is the most

beneficial for a customer ?


https://dl.doubtnut.com/l/_EYkaUuswfky6
https://dl.doubtnut.com/l/_RlZRA19JSvg3

A. A discount of 40%

B. Two successive discounts of 20% each.

C.A 10% discount followed by a 30%

discount.

D.A 30% discount followed by a 10%

discount

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RlZRA19JSvg3

20. Vikram bought pencils at 5 for ¥ 24 and
sold them ar 4 for ¥ 20. Find his profit or loss

percentage.
1
A°4E % profit
1
B.8§ % profit
1
C.4— % loss

6

1
D. 85 % loss

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kkyWmPlPRHTK

Concept Application Level 3

1. Vishnu sells a bike at a profit of 5% for ¥
10500. If the decreases the selling price to ¥
9000,will he gain or lose and by how much
percentage ?

A. Gain, 15 %

B. Loss, 10 %

C.Loss, 15 %

D. Gain, 10 %


https://dl.doubtnut.com/l/_MglJomBppaLI

Answer: B

o Watch Video Solution

2.x and y are two articles sold by a trader. The
cost price of x equals the selling price of y. x is
sold at 25% profit, y's cost price is 25% less
than it's selling price. Find the overall

profit/loss percentage made by the trader.

A.O

1
B. 335 %


https://dl.doubtnut.com/l/_MglJomBppaLI
https://dl.doubtnut.com/l/_kIVUdvDCXYPn

4
C. 287 %

D. 20

Answer: C

o Watch Video Solution

3. A grocer purchased 65 kg of rice ¥ 16 per kg
and mixed it with 85 kg of rice at ¥ 12 per kg.
At what rate per kg should he sell the mixture

approximately to gain 20% ?


https://dl.doubtnut.com/l/_kIVUdvDCXYPn
https://dl.doubtnut.com/l/_aNKfM75mrxU0

A.X16.00

B.¥16.50

C.X17.50

D.X15.50

Answer: B

o Watch Video Solution

4.X,Y and Z marked an article at ¥ 4000 each.
X sold it after giving successive discounts of

20% and 40%. Y sold it after giving a 60%


https://dl.doubtnut.com/l/_aNKfM75mrxU0
https://dl.doubtnut.com/l/_dfgpl70CiIti

discount . Z sold it after giving two successive
discounts of 30% each. The maximum selling
price is (in )

A. 1920

B. 1960

C.1740

D. 1900

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dfgpl70CiIti
https://dl.doubtnut.com/l/_3OQQo66BJN7h

5. By selling 20 pens, a shhopkeeper gained
the selling price of 4 pens. Find the profit per

cent.

A.10 %

B.25%

C.15%

D. 20 %

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3OQQo66BJN7h
https://dl.doubtnut.com/l/_GGiVs8UrtWnL

6. Sushma and Harika started a business with
investments of ¥ 4500 and ¥ 5500 respectively.
After 6 months Sai joined them with an
investment of ¥ 7000. Find the total share of
Sushma and Harika in the annual proft of ?

27000.

A.7 11000

B.¥ 15000

C.¥ 20000

D.% 16000


https://dl.doubtnut.com/l/_GGiVs8UrtWnL

Answer: C

o Watch Video Solution

7. Karthik marked an article at 60 % above its

cost price. He sold it at profit after 2

successive discounts of 10 % each. Find the

profit percentage.

A. 40 %

B.35.5%

C.20 %


https://dl.doubtnut.com/l/_GGiVs8UrtWnL
https://dl.doubtnut.com/l/_KnpPmawFULt1

D. 29.6 %

Answer: D

° Watch Video Solution

1
8. The price of an orange dropped by 33§ % .
As a result, Mahesh was able to buy 25

dozens more oranges for ¥ 720. Find the initial

price of a dozen oranges (in %)

A. 144


https://dl.doubtnut.com/l/_KnpPmawFULt1
https://dl.doubtnut.com/l/_JW7rw1YClpbW

B. 120

C.132

D. 108

Answer: A

o Watch Video Solution

9. A fruit merchant bought some bananas. One
fourth of them got spoiled. He sold another

one-fourth of them at 24% loss and the


https://dl.doubtnut.com/l/_JW7rw1YClpbW
https://dl.doubtnut.com/l/_89MfY7aWlxRF

remaining at 18% profit. Find his overall loss

percentage.

A.19 %

B.22 %

C.3%

D.6 %

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_89MfY7aWlxRF

